3.2

What is Phrase Marker?  

P-marker is a graph comprising a set of nodes, connected by branches.  The nodes at the bottom end of each complete tree structure are called terminal nodes; other nodes are non-terminal.  Each node carries a label.  Non-terminal nodes carry category labels (e.g., N, V, NP, VP, etc); terminal nodes are labeled with an appropriate lexical item.  

The relationship between nodes are defined with (i) dominance, and (ii) precedence.
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Notice however, nodes may be related either by precedence or by dominance, but not by both.

We can make use of dominance and immediate dominance to define two important traditional terms – namely constituent, and immediately constituent.  

(2)
a.
A set of nodes form a constituent iff they are exhaustively dominated by a common node (i.e. iff they all branch out of a single node, and if there are no other nodes branching out of the same single node.

b. X is a constituent of Y iff X is dominated by Y

c. X is an immediate constituent of Y iff X is immediately dominated by Y

(Note:  iff = ‘if and only if’; X and Y here stand for nodes.)
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(4)
a.
If one node X immediately dominates another node Y, then X is the mother of Y, and Y is the daughter of X.


b.
A set of nodes are sisters if they are all immediately dominated by the same (mother) node.

3.3

C-command (a conventional abbreviation of constituent-command: only the abbreviated form is normally used):  

(5)
X c-commands Y iff the first branching node dominating X dominates Y, and X does not dominate Y, nor Y dominate X (a branching node is a node which branches into two or more immediate constituents).
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(7)
A node c-commands its sisters and their descendants (X is a descendant of Y if X is dominated by Y)

Anaphora:

(8)
a.
John and Mary think everyone despises them
b. John and Mary despise themselves
c. John and Mary despise each other
When an anaphor lacks a compatible antecedent, it is uninterpretable, and the resulting sentence is semantically ill-formed.

(9)
a.
*John despise each other.

b. *I despise himself.

c. *Each other are always arguing.

d. *Themselves are very happy.

It seems clear that anaphors like each other and themselves have obvious semantic properties in common.  But they have syntactic properties in common as well.  For example, both seem to function as NPs, and hence can occupy typical NP positions.

(10)
a.
They believe [each other/themselves to be innocent]

b. I want [John and Mary to help each other/themselves]

c. I consider [John and Mary to be too preoccupied with each other/ themselves]

Differences between anaphors like each other on the one hand, and those like themselves on the other.  Thus, self-forms anaphors are known as reflexives, whereas forms like each other are known are reciprocals.

(10)
C-command condition on anaphors

An anaphor must have an appropriate c-commanding antecedent

(11)
a.
[The soldiers]i might disgrace themselvesi
b. *[The soldiers]i’ behavior might disgrace themselvesi
In (11a), the reflexive anaphor can have the NP [the soldiers] as its antecedent, whereas in (11b) it cannot; moreover, since there is no alternative possible antecedent for themselves in (11b), the anaphor here is uninterpretable, and the sentence is ill-formed.

(12)
The men will shoot the arrows at each other
What is the antecedent of the reciprocal each other?  The answer is that each other might either refer back to [the arrows] (so that arrows are being shot at other arrows), or to [The men] (so that arrows are being shot by men at other men).  Sentence in (12) is ambiguous

(13)
a.
The meni will shoot the arrowsj at each otherj

b.
The meni will shoot the arrowsj at each otheri

But can c-command condition in (10) handle the ambiguity of cases such as (13)?

Summary:  dominance relations play a fundamental role in helping us define more complex structural relations (such as c-command) which play an important role in any adequate account of a number of syntactic/semantic phenomena.  Furthermore, any adequate linguistic phenomenon must be maximally explicit, and to be explicit it must be formalized in terms of primitive set of constructs (in our present case, in terms of Phrase-markers and the dominance relations which hold between the constituents contained within Phrase-marker).

